
Числа 1 - 5

Математика
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Назови число, которое может  
быть суммой двух других чисел.

1  2   3  441 331 2





1 2 3 4 5



1 32 4

+1

4 + 1 = 5 

Вправо - плюс

5



1 32 4

-1

5 - 1 = 4 
Влево - минус

5
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1 32 4

Вправо - плюс

5

+2
П.

3 + 2 = 5



1 32 4

+1Вправо - плюс

5

+1
В.

3 + 1 = 5+ 1

4 + 1 5=



3 + 2 = 5 
                                   
3 + 1 + 1 = 5
   4    + 1 = 5



1 32 4 5

-2
К.

5 - 2 = 3

Влево - минус



1 32 4

-1Вправо - плюс

5

-1
В.

5 - 1 = 3- 1

4 - 1 3=



5 – 2 = 3

5 – 1 – 1 = 3
   4    – 1 = 3





1 32 4 5



Расскажите о числе 5.
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Спасибо за урок !


